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1.

. Choose the correct statement.
6( The lithosphere controls. the amount of solar radiation reachmg the surface of the earth
. (B) - The hydro3phere controls the amount of solar radiation reachmg the surface of the earth
‘(C) The atmosphere controls the amount of solar radiation reaching the surface of the earth

(D) Both lithosphere and hydrosphere controls the amount of solar radlatlon reaching the
- surface of the earth .

- sflurer anédwusms Gﬁl‘l’jﬁ@ﬁ@ .
(A) yeflllen  Gupurleou” apgeL b @tﬂu_ls sfleiecllon ety unmm&@&narggnw
' s HUUBSsLILOSDE
B) yei@er Copurieu apseLyb  GNus 5@&&3{?6&@ Semey ﬁr’r&s@asrrm§§rrd)
, sLEUUbSsLUGADE S
(O yedlanr  Coupurleu epseryd Gilws sficdsder  aey maﬂ&a’m.w,ﬁgrrd)
sl HUuu@ssuuping

(D) yedullar Guduglenu eubSent ujb @rﬁlus @neﬁa«&m sieray unmm&@&nmggn@pw '
) ﬁrras@&rren,sgr@zm&l_@uu@gg,uu@élmgﬂ

- Which one of the following pairs is not correctly matched?

(A) Wheat - —  Punjab

(B) Paddy ~ - West Bengal
M Spices - — Rajasthan
(D) Coffee —  Karnataka

o

Qasrr@asa;uUL(amm Bevewr mrrss@u_ugsélw pouprreng erg?

(A  Gangleno _ - uEsem
(B) Qpe S Cubh@ eubisTerd
(©)  pywenr QQH@L&;@T —  gTgevgTeN '
O) &sm9 . - ERBILET

In which of the states sandal wood trees are predominantly seen?
(A) Karnataka, Rajasthan, TamilN adu

M Karnataka, Andhra Pradesh, TamilNadu
(C) TamilNadn, Uttra Pradesh, Bihar

(D) . Assam, Andhra Pradesh, Nagaland

Qarpasiul Berer arhg apern wrhleorsald sifs sarelledr shzen LDIIIﬁl&Gﬁ‘ srem LD pg?
(A)  sTBILSWD, gnsfu,srrdw; SpsTH ' -
(B) sipTLsD, HANICHeD, SORETH o
(O sHPETR, 2 ANAgCaed, Samt S S ,
(D)  avavmd, HATAFCHD, Brewmbg - : :
' 3 ‘ | PEDGS/17
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4, ‘Match List I w1th List IT and select the correct answer using the codes given below the lists :

. ListI . ' List IT o,
Orgamsatlonvaent ' _ Year _ @
(a) South Indian Liberal Orgamsatlon 1 1887 ' s
(b) Dravidar Kazhagam . 2. 1916
{c) Self Respect Movement 3. 1944
(d) Indian National Congress 4 1925
Conference Held in Chennm
@ ® © @
A 1 2 3 4
ez 3 4 1
(C) 4 2 3 1
D) 3 4 1 _ 2 .
uluidr I o1 e l_lqu.llJGD g Gurr@,sﬂ lJLIq.I.IJG)&@&@& &(ng D GTeT Qgsn@u@aﬂ@;bg sflwnar
cflen_uenang Agfa Qsis.
Ul igwe I N - ulquien IT
Quésnd/fepe; , . el

(a) Osarafipdu po o feod Fhigd 1 1887

) Horebliir &P&ELD 2 1916

(© swoflures Qusshd 3. 1944

(d) Qearwande pps BbHu Csu 4. 1925
ariudgav rprH

S () (b) ©* -
(A)

1 2 3 4
® 2 3 4 1
©) 4 2 3. 1
D) 3 4 1 2

5. Which one of the following is correctly matched?

(A) Surendranath Banerjee —  Political Guru of Gandhi -

A" Dadabhai Naoroji —  Grand old man'of India"

(C) Gopal Krishna Gokhale —  Indian Burke i
(D) Bala Gangadhar Tilak —  Lion of Punjab-
Spssam_apeo arg sfuns QursbsSpg?

(A)  aCriHysrs uranied - snpfllen pdwed @gm
(B) grgnumi AperCrmgd - @pfurelen pg@umD wallgT
() Gamure dmegew CaraGa -  @pHlureler uis
@) unw sEsTEY Hesi - . ugienQen Hrian
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- The “Communal Award” was announced by
(A) , Clauseton - (B Winston Churchill
Ramsay Macdonald D) Bonnerman

' m@uqmrrﬁl (QamanLcow ) ag’)la‘ilggam
(A) SlerrenLei B)  eflenavL e siébled

(C) pmoCes GuasdLrame(® _ D) uvreniGoer -

Who is called the father of modern currency? _

(A) . Babur - ﬂ( Shersha
(C) Akbar : (D) Humayun

{peSenT [mesriL @om@uﬂsﬁ BH®S Grshma)g;é;&ﬁjuf_l_mr'r wm?
@A)  umi ' B Qagiayr
(C) uir . ' D) enuwmyyer

Arrange in chronologlcal order

I . . The Justice Party came to power in Tamﬂnadu :
1.  Annamalai University was opened

III. The Defeat of Justice-Party in 'I“amilnadu

IV.  All India Women Conference at Pune .
@ LvoLm &° 11,1V, 11
© IVILILT ©) LILILIV

. & GErHEsuL_[HeTer ;f,]a;@&élasmm sroeunflurs wapuu®Bssis :
1 BHas 8, HDBHM 160 .%uﬂs@ w@geo
H  sararmoease udsmeaspstn g,]mmasuuz_L_gl
ML plpesho fHsar Auden cipsd
IV. seasdpdu Quarsdr LO[T(IBH;G' hemaileh el QLpmE
@) LIVILI . ®) LILW,II
©) IV,ILILI - O LILIIL IV

5 . AT PEDGS/17
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9.

10.

11.

12,

Which one of the following is correctly matched?

(A)  Shivaji ' —  Raja of Amber
M Afzalkhan —  Sultan of Bijapur

(C) Sayistakhan —  Mountain rat

(D) Jaisingh . —  Governor of Deccan

Spaa_cupmar erg sflwuna QuImhsHng?

A Aargd - Sbul g,m'_@ BTSN
(B) @wsvsTen - Sguiyi sdgTen
©) . QaylicgLsrenr -  weve el

D) Qmuin ‘ -  pEETETGHlen e

.zh}ave the title “Periyar” to E.V. Ramasamy Naicker?

Dharmambal (B) Moovalur Ramamirdham
(C) Muthulakshmi Reddy (D) Maniyammai

‘Quiiwni’ erem WL geng . Qou.pr-elih@ eupiidlwieur wri?
(A)  grombumer (B)  epeugni pmomAigd
(0 pszesid Qpiy (D) wesflwivenwo

The Prime Minister who introduced the New economic policy in India was
(A)  Charan Singh - (B) V.P.Singh
(©)  Dr. Manmohan Singh . _ M P.V. Narasimha Rao

Bpdureiled yFw Qurentgry Aardamssnus SPsILBSHL HysoT

“(A) - FpeRw Sy , _ (B) i), A
(©) vLméLit. warCuorsen S D) 9.6 mydlibio greu

The Indian President is elected by which of the following voting systems?

(A) One man one vote : (B) Plural voting .

(C) Openballot - - M Single transferable vote
SsHw @4@:}&5 gewaeuit Epsaan_ ahs auns® apetb Ggﬁ;b@ﬁ@&&@@é\mnﬁ?
Q) e®BUMHEES RO WTeES (B) ueneno cunsg

©  QasfuveLwrer auréeg D @HeD LIHY uES
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13.

14.

15.

16.

Which one of the following is not correctly matched? |

. (A) . The President - - 35
wilp=* Vice President -30
(C)  Supreme Court Judge - 65 .
(D) High Court Judge - 62
| Spsaam_cubpier ergy #fiurs Qurmbseddeane?
A) GLyurss gmweurt . -35
(B) gower Grurss s - 30
(©) essfdwap fhus - 65
D) swiffodp fHud 62
What is “Nirvachan Sadan”?
(A)  Central Finance Commission " (B) Central Legal Commission ,
Chief Election Commission = (D) Administrative Reforms Commission
“#l freungeh sgen” eraTLg) eTenen?’ | - |
(4) . wiu FH yewemud (B) wvEHw s L y@emTwid
C) sawmws Caigd Yamewnubd - - (D) Bieunss Sidmss penamund
Consider the following statements : :
Assertion (A) : The cantonments are centrally admmlstered areas
Reason (R) : The cantonments are placed under the direct adm1mstrat1ve oontrol of the
Ministry of Defence. :
Select your answer according to the coding scheme given below : :
A7 Both (&) and Ryarecorrect  (B) - Both (A) and (R) are false
C) '+ (Ais false but (R) is true (D) (A) is true but (R) is false
Bpésar cunsHutisemer seuadl : : | =
sapp (A} . Qirgpeus &L aurflukisd enow gfler RreurssdbpeE 2L Ul u@@wngm
smpad (R)  :©  @oramicus sl cunflumiser unGSTULY Senpéeasglen Coil. Blifeuras
' SLRULIT 960 &) eveussiuL_(HeTaTes.
@euppier arg) &l crar Sorefssab. .
@) Q) oppid R) @ren®id sf ® (A wpps R) Grem®is seu
© A sap %@T"sb ®) s D) (A af e (R) peun
Which one is not subject to Judicial l'ev1ew'>
(A) _Fundamental Rights
Preamble
{(C) Fundamental Duties _
(D) - Directive Principle of State Policy
BAGyemymie)sE SIuurpULL gl eTg?
4)  sigtine 2 fenwser '
B)  @suyer
©)  eglueL sLewser _
D)  rss Qanarengudionet Gp@uu@§gjm (Zasrrl_urr(i)&;err
7 '. PEDGS/17
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17.  Pick out the correct answer : _
Occupations in which women are not involved?

@A)
(©)

Cricket _ ' (B) Pilot \
Bus Driver ' W None of the above

 sflwnar eflev_enw CapGs@assayid :

QuekrsatTed QFinu (i wrs Lexll erg?

A
(©)

AR&E0s Rz (B) ofwremd giBged
Cumbgl LBHSD . D) CuphaeL. ggib Goma

18.  Who has developed the Central place theory?

- 9@ Walter Christaller (B) Weber
(C) Vanthunan (D) Malthus
anws P& Gam_um_enl . GmaﬁuﬁlLLaJﬁ wni? -

(A) mrreiLr'raﬂ[ﬂdouro)ﬁ o (B) Qeuur
(C)  eunengneren , : D) wrdgew

19. Consider which one of the following statement is not correct?

I
IL.
IIL.
Iv.
(A)
©

President should be a citizen of India

President must have completed the age of 30 years

President should be qualified to become the member of the Lok Sabha
President should not hold any office of profit under the Governmerit

I _ & 1

111 , ' D) IV

 Spssam_cupmieT arg geuprar aflen._?

Bt
I
IIL.
Iv.
(&)
©

PEDGS/17
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22,

23.

' The main causes of rural poverty in India?

L Unemployment and underemployment
II. Population pressures
III. Indian agriculture is marked by low productivity

- IV. A majority of people in rural areas do not have enough assets, especially land.
-~ Which of the statements given above is/are correct? '

LILITandIV ®) L Hand I
(© TandIf S ‘ (D). iand IV

S pHwnefler AmoLyD GP@LOESTET STemTThIHET .

L Gaumauiieranud Gmmwé@wygmtb ‘

I wéad Qanens Bi(PHSLD

1L  @pfw Gauemnaamenowlld 2 HLsHs HApe Bla Hles @aog)eq
IV. &gmoliyp wésaild Qumburerateuiad Curdw ey erggisaemarni Gumgﬁ]@maﬁlwmw

CuGw QarBésiu’Harer amppsaiio gl sidag erena &
@ LI, I wpgo IV | . ® L HuwpydIll
©€) Iwpgwll . (D) I wpgpw IV

Choose the correct answer ;

Agricultural productivity can be measured in terms of
(A) Consumption of fertilizer (B) Irrigation facﬂ.mes

Jﬂf Land and labour productivity (D) = Mechanization
" sfwren aflenL eow Caip@aHésab

Qauerrasments 2 HLSHS Hpeen ST wep :
(A) o pzden mateueney ® priunser eusd
©) Hawb wpybd 2 eplidern w_gpuggﬂg Soer (D)  eapdrowiorged

The percentage share of forests in the total area of Tamilnadu is

A  13% , B) 15%
© 20% . o M 171%
SLODBHTL1g 651 lerégs fetinguQd srhaafier sgeis LkiE eraran?
(A)  13% o ~@®B) 15%
© 2% | R
Globa]ly, IndJan agriculture has been ranked first in the production of
(A) Rice - 4 Groundnut
© Tobaoco : - (D) Cotton
_ 2 @& SieTelld @pHu Gmmrramg;mm p_mugbﬁuﬁ'lco (g);sa) G sagls QI.I[DQ]GTTGTT uu_‘ﬂrr
(A) ff . ®B) Boda_ema
©)  uyesdos D) umsd
9 IR PEDGS/17
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24. Consider the following statements : _
Asgertion (A) : Mitochondria are called power house of the cell. @ '
Reason (R) :  Complete oxidation of one glucose molecule can yield 20 ATP molecules.

Now select your answer according to the coding scheme given below : :

(A)  Both (A) and (R) are false and (R} is not the correct explanation of (A)

(B) . Both (A) and (R) are true and (R) is the correct explanatmn of (A). ’
(A) is true, but (R) is false.

D) (A)is false, but (R) is true.

Ep&aRTL sapeons seuad : _

apm (A) - 1 ewlGurarer_flur Qedaler ghned ewib erar Si@pastiLBGaamg.

smpetd (R) 2 GErsCaT &MY @pmg_ﬁlgm.o Q,a;erﬂg(}?cﬂmmm e pg 20 ATP
' ' QP& HEDNS SHHDSI.

&G GHUI Rerer GHlut g sfluren eflenLaws CsTEOSH :

(A A vogo (R) @rar@in semy, Gogib (R) aratug) (A) eflbe sfwnear eferdsinde.
B) A wpab R) Grar@d s, Gmgum (R) cremLgy (A) el 5Hﬂu.urreaa§1ara;asm ’
©) (A #fl, gammed (R) Fougl. :

- D A sam, %QTFI'GI) (R) af.

25.  Match List I with List II correctly and select your answer using the codes glven below :

“List I List IT
(a) - Carbohydrate _ _ 1. Aerobic respiration
(b) O:zis utilised _ 2.  Ethanol
(¢) By product of aerobic 3. Respiratory substrate
respiration :
(d) Anaerobic respiration - 4, H:0
(a) (b) (c) (d)
M 3 1 4 2
B 1 2 3 - 4
© 2 4 1 3
D) 4 1 2 3 '
S ulpwe I g uliqwd IT e Ler Qurr@,sﬁ &Gp GSH@MUUL@GTGTT @,r_f)]uﬁ@eswm& Q&rrmr@ mﬂu_msm
- eflacews CHIHASE |
uligwed I _ L igused IT
(a) smMGureman Gyl ' 1. STHD HeUTFD

®) Oz aBpgs AamememiinBid 2. agpeme
(©) sy saunssflene Mg 3. seurs ganliQurmen

@umper _
d) srpPléer seursn 4. H:0
@ (b) © @
A 3 1 4 2
® 1 2 3 4
<y 2 4 1 3
D) 4 1 2 3

. PEDGS/17 o 10 | A o



26.

27.

_ Consider the following statements :
- Assertion (A) : Micro organisms play an unportant role in. recycling of mmerals between

~ biotic and abiotic environment.
Reason (R) : Bacteria and fungi act on dead and decaymg organisms.

Now select your answer according to the codmg scheme glven below
(A) (A)is wrong and (R) is true.

(B) (A)is true and (R) is wrong.

Both (A) and (R) are true and (R) is the correct explanatlon of (A)
(D) Both (A)_and (R) are true but (R) is not the correct explanation of (A).

SpsaeT Q.lrré;é]u_nwamm seuel o

Fmpm (A) - : 2.9 wHmd 2urdn sryesiser @mg@w SHHLILMSHD gafﬂmm&aﬂw Loy
- SHEe miemrgnudfaer QL k@ eudlédlenmen. :

5rrqserb R :  unsefur LHDD LyE@ssET QDB 21L& BHID H(IPEGL. Glu:r@l_eserﬂafr LBg:Lo

Qrwoul G Supap Haogssdarer.

égpsésml_mmgﬁlaﬂ@pg gilwmen eﬁ]Ga)La)u.z @grr;r;@g@

@) (&) goun, B) oft.

B) (@A) sfl, (R) goumy.

C) A vppw (R) Grem®ib &, (R) eramuigy (A) elH Fftumen aflengaib.

(D) (A) whmb (R) @reerGid o, %smneo (R) erammuigy (A) aﬁ]gp@; sRlwren eflardad amco

Which of the following are correctly matched? Select your answer by using the codes.

(a) Hygrometer -  humidity of air

(b) Hydrometer - — relative density of liquids
(e) Hydrophone - changes in humidity

(d) Hydroscope - records sound in water

- Codgs : o
/o) (a) and (b) only

B) (ajonly |
(©) (a) and (d) only
D)  (b)only

EpsaerTLcuDmIET eTenar sfwmaL Gurr@g,suuL@mamrr? Ga;rr@muuL(Bscrm @@ﬁ@amsﬁs Qamenr (B
sflwirer eflen_enwg CaipOSH&SEeLD. : -

(@) eapsCGrmied = - srpbler rrBlene endELD el

(b)) @an GrmSi i » Biogdler UL g sragmbd el

© wanGrrGumes - rrOLgSSer wnppseans sngphd s@mesl -
(d)  ewan GymevGam - — Bigydr geflumaamars sar (g s@b Hmed

GPSGae : | - ‘ |

@A) (@ wppw (b) wCHd

®B) (@) vlfw

©  (a) wigid (@) wiGid

@) (b) i

1 - - PEDGS/17
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28. Thé 17t group Elements Fluorine, Chlorine, Bromine, Jodine and Astatine these are
collectively known as Halogens. It is derived from two Greek words, Halo and Ges ,

meaning. :
(A) Gun — Producer , _ (B) Paint — Producer
(C) Chemical — Producer Salt — Producer -

17 eugy Asn@Sudgierer ~ehiien, @Gamflan, YGymAlen, HGuimgen WwHHD SiEvLenL e pAer

Canegensd aar sawssLLGADg. Qg Caner wHOID e aenp SGr&s euritsanguielmbgi
- Qupliult_eneu — @ser Qummer _ :

(A) goursdl - &@mrré;gsuw _ (B) euamrentlLL&s — 2. (HeuT&@Geuen

(C)  CaudL@ummer — 2 (HeUmsE6u 6 (D) el - 2 MmeundGeuaT

29. Rodenticides (Rat killers) are
(A) Mixture of copper sulphate and calcium hydroxide
(B) . DDT and Zinc phosphate '

' % Zinc phosphate and Arsentc
(D) Malathion and Zinc phosphate

a1l Qamevedlger ﬂdTle
(A)  sriut soGUL LHHD STOAWLD @D TTEMSH FVHS Swm6
(B) DDT LDQQ]LI) &&sETS uneGUL - .
(O gsspre unavGul LHHID isalls
(D) wregdure LLHOIL HSSHTE LiTevGELL

30. Consider the following statements :
Assertion (A) :  Sodium hydroxide is a strong base.
Reason (R) : Soidum hydroxide ionises completely in aqueous solution.
Select your answer according to the coding scheme given below :

M Both (A) and (R) are true and (R) is the correct explanation of (A).

B) " Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C)  (A)1is true, but (R) is false.
(D) (A)is false, but (R) is true.

SpéaamL cunGHwrismer seua)

aapp (A) : Gemquib evanl grsmed @ euallenw Wi .srrmb'.
- smpamb (R) - :  Gamgwd eanl gréms® Blld apupeugions siueflypdng.
@encusafles ergy &1f7?

@A) (A wpgb R) @rar@o s, Cugib (R) sremg (A) el sflwrer efleTéaLd.

B) (A) wpgs R) GraxGw M, e (R) aarug (A) 6H@ sflwmer eflanésinde.
© (A sh, speme (R) saup. | .

D) (A) saum, perred (R) &M

‘PEDGS/17 o 12 - : : ®



31.

39,

The value of x in the following diagram is

Ay 192
®) 190
) 188
®) 186

Sipsart LILgHle) ‘X -air ol

@) 192
2 190
© 188
D) 186

A vendor offers a discount of 10% on a watch and still makes a profit of 26%. What is the
actual cost price if the marked pru:e is Rs. 8407 .

™ 600 I (B) 700
(C) 800 : ' D) 650

R e&]g)ummu_lrrmrr wassgsTTsddn 85 10% sdr@sug. 565 DG 26% @mub emmuﬁgprm SIF6
@& cllaner m. 840 erafle) sigem mnmeﬂu.t eflenew eTeman? ' :

(A) 600 B) 700

- (C) 800 i ' D) 650

13 - PEDGS/17
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33. Find the missing number

33 - 39 45. ? @
7 4 8 5 9 6 11 8
@) 51 - g

© 58 | (D) 52

APULL eTelTenenTd &meit

a3 | 1 39 1 g5 ?
7 4 8 5 9 6 11 8
(A) 51 : g B) 57
(C) 58 ' | D) 52

: ' th
34. An empty water tank being filled with water at a constant rate takes 8 hours to fill % of

its capacity. How much more time will it take to finish the filling of the water tank?

(A) _ 28 hours

M 20 hours

(C) 8hours )
{D) 10 hours

" g@Cr &men Caussfler augmd sermeiflan apol @ saredit Qgm iguden —3— LURIEG WD Hrou
8 wenflser yflerpar. Sgaparar Agmy ppeugid Firbdu Genguih eréucuarey CHILD p@D?
(A) 28 wemfiser o
B) 20 wexflger -
©€) 8 wafladr
D) 10 wefiger

- PEDGS/17 14 | o



' 35.

36.

37.

| @
<

@

©

(©)

4l o

A

06

©

The next number in the following series
1, 6, 13, 22, 33,
(A) 44

is

.le

Epaam Qgm_Md aumd AHES Tewr
1, 6, 13, 22, 33,
(A) 44 '
(C) .46

The LCM of 5, 6, 8, 9 and 12 is

¥ 360

(@ 90
5, 6,8, 9 opgud 12-6n. 15.8.10.
(A) 360 -

(©) 90

)

®

D)

(B)

D)

®) -

)

15

B)
)

(B)

D)

180
120

180 -
120

PEDGS/17
[Turn over



38. . A can do a job in 16 days. B is 60% more efficient than A Fmd the number of days for B to
finish the same work '

(A) 16 o | ®) 12 ®
Wlo' | ®) 15 -

2@ Cauaawaw A 16 prisafie apgiun. B ererueui A-eow oS 60% &ﬁ&mmw gmmmtqmu.rsurr
erefled, ap(p Gmma)mmu_‘w Wiy &s Bpg Cevanunar prn.&m

A) 16 a B)
© 10 - B - D) 15,

39. Find the odd man ocut"

FAWAVAY

(i) (ii) (iii) ,
o v @i
(€ il : - @) i

Yletreumeuareud bl QuTmBHESTSS eTFI?

12 15 6 7
9 4
. ® (ii1) ' (iv)
A v ' | B) ii
© i | ® i
-40. Th]e simple interest at 2% for x years for a sum of amount is Rs.x, Then the sum is
(A) Rsx _ B) Rs.100x
(C) Rs. 100 ' - (D) Rs. E'g
x x?
@ Qgrensss Frgmyet culigilld x% sﬁgsm X YRHEEHES 05.X GuL_ig. ﬁam_&ﬂg)@ 25 Qgtieans
GI'QJQJQTQ.{?
@ @®x ®) .100

100 ' 100
ooy ® o7

PEDGS/17 16 L@



41,

42.

43.

44.

What percent of 7.2 kg is 18 gms? . |
(A)  25% | ® 25% ~ -

S 0.25% | | @) 0.025% T
7.2 £.8-6 18 Aymb arenug TEgeen sHeiFID? _
A 25% ' o ®) 2.5%

© 025% ' - D) 0.025%

Three cubes of iron Wh_ose edges are 6 c.m., 8 c.m., 10 c.m. respectively are melted and
formed into a single cube. The edge of the new cube is .

12 c.m. _ B) l4cm.
() 16cm. B D) 18cm.

6 Qeid., 8 Q&..LB., 10 Qas.i8. Beraperar allefibuisemens Qanerm apeny Sadsgy cuig.eild 2 diren
@owsiaan e mEA QI sSMFHITEDS L-(Ha réHenred Db LH sens sgITHHlen efeflbiQen Hemd

(A) 12 @s.5 . _ (B) 14 Qs.b.

(C) 16Qs.b. | (D) 18Qs.5.

If an operation @ is deﬁneti és follows a®@ b = \)dz +b? | where a,b e N . Then the value of
(304905 [ : : .

@ 242 : ﬂu/ 5v2
© 25 . 55
- © erenp Qst'uéﬁurrangl a® b= Ja? +b* aren mmum@é&ﬂu@@m@. a,be N aaf@(3@4)XO 5en

iy o o

@ 242 L ® 2

© 245 o @ 55

Who is the author of the book, ‘The People’s President : A.P.J. Abdul_Kalam’?

M ‘Mr. S.M. Khan - (B) Mr. Arun Tiwari '
(©) Mr.YS. Rajan - (D) Mr. A. Sivathanu Pillai

‘wiseler Gy LTss sma : §.19.Cg. SLIGD sOTD’ TeD USSEEDS erplweuit wimf? |
A) S eav.end. HTen (B Am. simew Heurfl
€y Bm euw. aev. rgen o ‘O Hm. g. Haugrgplulerenar

a7 | PEDGS/17
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45.  The winner of the Men’s Singles title in Syed Mod1 International Badmmton Champlonshlp

2017 is | - @
(A) - Sumeeth Reddy (B) Sai Praneeth
Sameer Verma ' (D) Pranav Chopra

2017 parer mswg (errq uensmm_(i; ylung smbdShuenad e %l.@.ll‘l’ @mm;nu_m UG Slene

Qeuenpeurt :
(A)  &b5Qrl, ' : _ . (B)  emi Qpafts
(C) &b euom : D) Gpares G&nt;qrr

46.  The best feature film in regional language Tamll Chosen for the 64tk National ﬁlm Award

in April 2017 is
(A) Reservation (B) Wrong side Raju
(C)  Neeraja 7 Joker

glge 2017 Glov, 64 eugy Gadlus Heogisu ama Qup ng;r;Qg,@MuUL_q@es@m Ggrdw Aomg,
slpsarar Aphs @m&ﬂg@w @amyum_m '
(A) = AerCousen _ B)  griensl grg®

C) Sogr . (D) Cgréai

"47.  The revised guidelines issued by the CBSE as on March 2017 demands the school buses to
be equipped with ‘

(A) Speed governors, oxygen cylinders and GPS
GPS, CCTV arrangements and speed gover_noré

(C) Speed governors, GPS and mobile phones

(D) Oxygen cylinders and mobile phones

wriré 20176 , CBSE 1leme Qeuefiud crul @erer SmsHlueninsaini i m;ﬂ@p@p&aﬂm Uiy umaﬂ
URGRTEIES QS SFTEaiEmaT Qaramy BLUUmS eellynssdng)

(A)  Gausbd gyiepid smellad, g salger e maesdr whmb GPS
(B) GPS, CCTV wewiiyser whmb Cousid DEBLD S(meSsaT
©  Geusid ey@nb smellsdr, GPS wppib evaCuladr

D) pseligen 2 menarsdr O waGLAsdr

48. 13tk Secrt_étary General of North Atlantic treaty organization is

Mr. Jens Stoltenberg (B) Mr. Joko Widodo
(C)  Mr. Jean Patrick Modiano (D) Mr. Nicholas Winton
QUL SILQTeRTIY& 2. 6MLIg e el e 13-qugy Qung Qewevmaric Speum.
(A)  Hm. Ageanev vBGLro@aQuis B) A Cynéar ACLIGLY

(C) A dawur’ s GomgwirGenm - D)y Am. PaCareey eflem e

"PEDGS/17 - 18 @



49.

50.

51.

52.

The chief _guest.of 2017 Republic day Parade was Mr.
(A) Barack Obama |

(B) Francois Hollande

K Sheikh Mchammed Bin Zayed Al Nahyan

(D) . Shinzo Abe .

2017 @& @gwre Her amﬂm@ulﬁl@sn&r Apliy A mpbHeart, Himm. —

(A urgrs @umom - B) JprRisTieD ra._r(')rrasm’.tin.(?l_

€) Gays qpsog e QLIS 26 Huie D)  AaGavr SGu

Name the youngest US chess Grand Master
(A) Carlson | ' ﬁf Samuel Sevian

(©C) George Robertson . " (D) Samuel Lake

Bemb uwHe GoRés Gm éﬂqrram_ LOMGVLIT < @TeuiT
(A)  snidsen . _ _ B) esrapGeusd G&aﬁlu.larr
(C) gritg grui_ger o - D) srpGeaud Govds

India’s first vertical garden in March 2017 has been set up in
A) Chennal, Tamilpadu W Bengaluru Karnataka
©) Th_iruvananthapuram, Kerala - (D) Hyderabad, Telungana

wiriré 2017 @&, ApSunefan s Qeti@ss CHM LD SenwssiiLL Herar QLD Qs
A)  dsanemer, s8lHBTE (B QuisEsm®, STBTLSD
©) SHmeuenbgyybd, Cayarm o (D). eapgyruns, Qs@miETeny

Which country was re-elected to the umted natmns human nghts council for the period,
2015 to 20177 -

(A) Thailand ' (B) Kuwait
(C) Cambodia S India

g&fw @ wafls a_iﬂmw a;mamﬂga;@ 2015 Simpg 2017 cueny GLIGLLD CaibQshésuul’ (Hever
B ergi? ' .

(A  smiembg | B) eowp

(C) soGumgur D @sdur

19 - | .~ PEDGS/17
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53. Choose the correct answer :

Divergence of rocks on the continent causes.
(A) Mountains ' {B) Plateaus
(C) Plains : Rift valley

sFlurer aﬁlml_‘q)u_:g CapEghEsal.

SeRTL_rusata me;psaiT Sl Aumrpg Caramdanmn HosCamhmib

(A) weoser . ' B  Suydser

(C) swleauaiser . | D) YGerey LTETSSTEHE ST

54. Match List I with List IT :

ListI o List IF
Multi purpose projects Rivers
(a) " Bhakra — Nangal 1. Mahanadhi
(b) Gandok S 20 Sutlej
(¢) Nagarjuna Sagar 3 Gandaki
(d) Hirakud 4. Krishna
(a) (b) (© (d
o 2 3 4 1
B 1 3 4 2
) 3 1 2 4
(D) 4 2 1 3

g I g udquied I1 2 Lér Qummsgseyid :

e I L tquied IT
{vCErEE Sl msear) - (< mismer)

(@) u&pn-pris® 1. &EMHE
(b) sreaLrs 2. &-I;QQJQ
(© prenigOen sna - 3. snenLndl
(@) abyrgl 4. Sl meipemrm

@ ®. ©@ @
A 2 3 4 1
B 1 3 4 2
© 3 1 2 4
D 4 2 1 3

- PEDGS/17 | 20



55.

56.

Which statement is/are correct?

L.

I

@A)

B)
(©)
()
I_.
II.

(A)
®

o

)

In India, one of the branches of the S.W. Monsoon crosses the Arabian sea and blows
towards the West coast of India.

In India, Another brarich of the South West Monsoon takes a turn towards the Bay of
Bengal and enters into the North Eastern India.

1only

il only

I and I only
Neither I nor IT

- aflwrer QemH@mmLi Gﬁﬂp@g,@a;

@pHuirelle, Ggmﬁwm@ LBeuGESTOMET 6 Hevar 9GS _DwE SLHI @gﬁﬁuﬂreﬁlw
CupEs &LD&GDIIGDUJ Crréd eiadmg.

. @)pHuwiredlen ng(ﬁwp@ LGeuSSTHble mm@mrr@ Slenem cumiEnar e&lﬁ}@ures HLO® HLpEl

@pdwureien aut_flipsdle @mgeﬂpg

Imp@m

II o (Hiib

LIlw o .
I, II @éena

Which one. of the follo§ving is incorrectly matched?

B)
(©)

- D)

‘Vaikam Hero - Sathyamurthy

Great leader -  Kamarajar ’
Iron man —  Sardar Vallabhéi Patel
Chanakya . — Rajaji |

EpamamLaup e arg #llurs Aunmpgeidama?

N
®)
©)
1)

@eussLD GO - ssduepisd
. ésr'np e ~ STOFIEQIT
@miby waflgi - signiT eudeumd ul G
S sremsduT  ~ - @Qrgrel
21 - - PEDGS/17
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57. Match the following :

List I Listll - ®
(a) Delhi Durbar 1. Dadhabhai Naoroji '
(b) Indian Association 2. Gokhale
(¢} Servants of India Society 3. Lord Lytton -
(d) Drain theory 4. S.N. Banerjee
(a) (b) (c) (d)

A 4 3 2 1

M3 4 2 1
) 3 2 4 1
O 2 3 1 4
i@aaim_m;bmm QuImHEs :

. L gwed : ulgwe I

(a)  igeel girumi 1. srgruni QperCrngd
b i Fhsd 2. GaraGe :
(©) @pdw veflurerit shsio 3. Sl e Gy
(d) Qseeu speTLO Cumiun( 4, S.N. urenirgd
@ ® O @
A 4 3 2 a1
(B) 3 4 2 1
© 3 2 4 1
® 2 3 1 4

58. Coﬁsider the following statement :

Assertion (A) : , Gandhiji withdrew the Non-co-operation movement.
Reason (R} : An angry mob set fire to the police station Chaunchaura changed his

mind.
Now select your answer according to the coding scheme given below :
(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
" Both (A) and (R) are true and (R) is the correct explanatmn of (A)
{C) (A)is true but (R) is false
D) (A)is false but (R) is true

SpaerrL. cursdlwuiseaner seuafl :

spm (A) - D e esgempuremn QuEsioms @ml_uﬂ(‘ém@m Fimsd eneugpre.

smyemd (R) - QeerfiQeerynr sneudd Heawsms whmesWcL @@ saltid a{g;b@ -
ugsg. Q&Ga, s1Hd aig@purm. Qusssas @ml_uﬂla) ‘r_ﬁlg@g EAERTLD.

Qeupger sflwrer sllenLanw GCaibEsHasew.

A) (A wogbd (R) @rem@ &M, gyeamme (R) eramugy (A)ellneg sflwnar eflarésioda

B) (A vdpd (R) Qrer@io sfl Cuogib (R) ereug) (A)@Sﬂm@ shlwmen eflaréstn

©) (A) sl yame (R) soum

D) Q) poup amed (R) &

PEDGS/17 22 ©



g).

60.

61,

Assertion (A) : The Indus peoi)le believed in ghosts and evil sprite. _
Reason (R) : Excavations at several Indus sites reveal that Indus people used
amulets. - .
- Both (A) and (R) are correct and (R) is the correct explanation for (A)
(B) (A)is false and (R) is correct :
(C) (A)is true and (R) is false :
(D) Both (A) and (R) are correct but (R) is not the correct explanatlon for (A)

- sapm (A) : o fbg EFLDGGUGTﬂ waset G Hmd Qesu_ ol Caeuamgaamenyid pioiden.
smyeerd (R) Hpg swolevef ..-g;qasgpwrrmru_lsﬁﬁm Cung Sl ggmeuaamer meusg Sicuraar
: Berpw sieflsadsama vwauBs @LiLmiser erat pioLHComb.
A (A) wpgd R) sRwurerene. (R) — (A)ésren sflwimer eflenéed
® (@) gop ®) s
© A sf R pouy , | _
D) (A wogw R) sMuratemer. gyamme, (R) — (A)ellbsnar sflumer sdarésiwdea

Which of the followmg pairs is not correctly matched"

L Vedas - Knowledge

II. - Senani ' — - Military leader

III.  Nisha - Uneducated women
IV.  Barter system —  Exchange of goods
@ 1 o ® I

Ao 1 - A I\

EpsarT_cupmyer arhs @msm &:ﬂqurs G]urr@‘mgseﬁ]a)msu?

L Ceugniser - Sidley
II.  Gesamell - LeCsgeud
II.  flegr ' ~ Uig &g Quekt
IV.  ueiworhm e - Qumeraear rHHD GFiieag

@A I o ®) 1
(¢ 11 - O Iv
Which one of the following i is incorrectly matched"
(A) Ibn Battuta — . Morocco

- (B) Nicolo de Conti - Venice
(C) Abdul Razzak —  Persia .

e Domingo Paes - France

SpsaTLadmer ag sftwurs Gun@g,g,eﬁ]a)ma)?
A)  @ueérugisT - QuorGrrésr
(B) BaCanGar g Cerarrg —  Geuaflev
€C) Sg® s ) - umpésn
M) CLrlCsr uwe - Wgrens

- 28 . PEDGS17
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62. One of the planning schemes to create awareness among the consumers
(A) Vanamahotsars "~ (B) - Operation 21
W Trade fair \ (D) Rajarajan 1000

HIsTGaurhés e anﬁrftm THUBGSSEF LW ,@C.l.rés&aﬂd) ReTm

(A) aenosT2 b - B) o uCragen2l
(C) aiggssgmens D) grggymggen 1000

63. Match the following :

(@) Bihar 1. Agarthala
{b) Tripura 2. Impal
(¢) Manipur 3. Ranji
(d) Jarkanf 4, .Patna
(@) (b} (c) (d)
o 4 1 2 3
® 3 4 2 1
© 1 2 3 4
@) 2 3 4 1
QunBSgs
(a) s | 1. SIETHOT
(b) HAygr 2. @ume -
() wenfllgT 3. gugpd
(d) grrsseRm 4, LITL_&Tr

(a) (b ©@ | @

A 4 1 2 3
® 3 4 2 1
© 1 2 3 4
D) 2 3 4 1

PEDGS/17T : 24



64.

65.

Among the following statements which is correct? , _
L Part IV of the Indian Constitution consists of Directive principles of state policy.
II. . Part V of the Indian Constitution consists.of Directive principles of state policy.

~III.  Part IIf of the Indian Constitution consists of Directive principles of state policy.

IV. PartIV-Aof the Indian Constitution consists of Directive principles of state policy.

Vo . S ® I

© I ' “ ® IV

&pssam anEunisaic arg) sflwmeng) ?

L @bfu sirflueewiGer IV b U@ﬂuﬁla) SIT5SE Gasrrm‘rem;uﬁla)m ngﬂuu@,sg]m (SsrrLurr@a;ar_
S Gumgiamrw :

II.. @y srflueenoinlear V oub u@@uﬁ]m S5 Qandrasudlena QABALILGESID G&Mw@sm
gL Gumgnarmm

IIL. @pdw au@wwa}wu&m III LD u@@uﬁlm au&s G&rrcrrsnsu.‘:la)m Gl'r_r;,rﬂuu@g;gm Cam_un@paer
Qb Qupmererer.

IV. @pdw sirduwmwiba [V — A %m uEHle Sipes Gsrrenwauﬁlcow GeHuU@SSID
Cam_un@ase @l_m QuigyeTere.

(a I © ® I
(Cy 1III : | D) IV

Consider the following statements :
Assertion (A) : 14 Lok Sabha tenure between 2004-2009
Reason _(R) ¢ Generally Lok Sabha tenure five years
Select your answer according to the 'coding scheme given below :
40" Both (A) and (R) are correct (B) Both (A) and (R) are false -
(©) (A)is false but (R) is true D) (A)is true but (R) is false

E\pdsarn_ aurEuiismar sauef _

sapm (A) : udlennatand Cond aurrsﬁ]én &neold 2004-2009 '

smpemn (R)  :  Goord sur ugedls sreld DS cﬂ,@f@&m

@mmgm g #f eran §iorafésayb? ' A
(A) wppid R) @rein@id s B (A wigid ®) Grandnd sag

© @Wpap®sh D) (&) sl game (R) saugy

25 - - - PEDGSN7
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66. Whlch one is the oldest as well as the largest industry of India?
(A) Paper industry _ (B) Iron - steel mdustry
(C) Cement industry : o % Textlle industry

@bHureden Bast LpebLregD, WaelAuiu Sarelorer Ggmieneng oz ?
A) srflgs Agmfle B) Gy @ AgmPe
(©) "  HQuer’ AgmfPa ' - (D) Gpseys Agmfle

- 67.  Choose the correct answer :

Which is declared by Government generally at the time of harvest of crops"
(A) M1mmum support prices
M Procurement prices

(C) Issue prices ‘

(D) Retail priées

sflurer efle_mw CaiposHsseyb

LS SipeuenL st s SidlellEgh elene
(A)  @opps eTey Slewe

B) Qararse el

(C) QULPEIED efleva

D) SHowenrlleney

68. The Kisan Credit Card scheme was introduced in
(A)  April 1998 ' August 1998
(C) March 2011 | @) April 2011

Sevrer HAMg L &G UL b HBWPSILGSSILC L peRTH
(A) aure 1998 © (B) oysevl 1998
(O onié 2011 (D) g 2011

PEDGSNT . 26



69.

70.

-~ (d) Vitamin D

Which one of the following is not coming under ‘Income Method’ in calculating Natmnal
Income"

~(A) Wage and Salary (B) Income derived from self employment

(C) Interest _ ' _ y Export of goods and services .

SpsaaT_cubmeT ‘aunomer apanufd’ ;_r,rn_(}) QIBLTEGME semsfReudled .-_a;u_ra:aarr;g; Grgj? |
(A) el topmibd sbuemd S

B)  swlsmfer yAGaumflen m@Lnncqub

©) @ig ' |

D) ghpwd GeuCILCL URTLESHT wHyb Liswf s

Match List I with Llst II correctly and select your answer using the codes given below :

List { . List IT -
(a) VitaminB; - 1.  Pellagra
(b) Vitamin Bs ‘ 2. " Osteomalacia
(¢) Vitamin Bz 3.  Anaemia
4 Beri-Beri

@ ® © @@

@ 1 2 '3 4
@B 1 4 3 2
ﬂf 4 1 3 2
™ 4 2 3 1

ugue I g uu;}u_lsu IT 2_én Qurr@gﬁ &(Steg Qarr@a;esuu;@mm @rﬁluﬁ@asmms Qareir® sfwmen.

. G}QGDL.Q')IU‘Q} Caipds® :
. L quied I ulgwe IT
(a) enmLLL.L&GEir'Bl - 1. Quéersyr
(b) GmaJ_LL_L&éT Bs 2 <@g Guimperwm
€ eveul 1l Bie . 8. QuisCstavs
(d) eeulflerD ' 4 QuA-Quf
@ ® ©@ @
Aa 1 2 3 4
B 1 4 3 2

(O 4 1 3 2

DOy 4 2 3 1
27 . o . PEDGS/17

[Turn over



71.

72.

73

. Assertion (A) © WBC lack haemoglobin,
"Reason (R) : The oxygenated form of haemoglobin is called oxy haemoglobm _ .

(A) Both (A) and (R) are true and (R) is the correct explanatlon of (A).
& Both (A) and (R) are true and (R) is not the correct explanation of (A).
(©) (A)is true, but (R) is false. '

(D) (A)isfalse, but (R) is true.

gienfly (A) : @rés Qauataarugnssaie afGurgGarmier Gurean Hmblsdr @é}sﬁw.
smpend (R) :  scdipaiLd Qeanhs aGurgGamiea sl abCuongGemier eremLBLb.
A (A wogd R) @ran@id s, Cugid (R) aemug (A) g flwrer ellaTésid.

B (A wonod R) Grar@ind A, Cogibd (R) erérug (A) el @ gmgpnw MNen&sLD.

(C) (A) &, yame (R) seumy.

D) (A saum. e (R) &,

Assertion (A) : Menstrual cycle is rhythmical series of changes in the sex orgah occur for
about 28 days. '

Reason (R) : The reproductive life of women is from puberty to menopause.
M Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C)- (A)is true, but (R) is false.

(D) - (A) is false, but (R) is true. ’
gesiy (A) : wageflLmi spHé 28 BL_aseneT QETERL STes SpHé) @D

smamb (R)  ©  @f uar anug) pPisdlumips stab (pee auwg pHibg! mrrgeﬂh_rru.s HéELn
ateny o_dTengy @emIAUMES ST@LD LGW. :

(A) (A wpmib R) 5. wppib R) aeug (A) eflpe shiwres eflenéatd.

: (B) (A) wHpw (R) afl, vppd (R) eremug (A) Gﬁlm@ sflwrer efleT&sd a{om)

©) (A)sf, syemmed (R) geums.
M  (A) geumy, e (R) ol

Select influenza causative agent

& HIV : ' "~ (B) Adeno virus

(C) A (HIN1) : - (D) Bacteriophage

@enyenwensn Gpmi sryest wirg?

(A HIV . | B) igCenT eveure

(C) A(HINY) _ D) CusiAGurGugy
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74.  Consider the following statements. Which of the folldwihg is/are correct :

1. Dimensions of very small objé_cts' are measured by screw gauge.
2. Long _distahce_s are measured by laser pulse method.

3. In shops, shirting material is measured by screw gauge.

4, Screw gauge is used to measure the diameber of thin wire.

(4 l1land3 ' - B) 2and4

(©) - 2,3and4 | A" 2and 4

Qeseu(mid ampmisefier erg/eraneu &rﬂu.urma)m?

1. HmE saelenws Qaram(®, Wlas bl QuireTseiien urﬂwrrsmrmasa)ar a{arsﬁk.eorrm
2. Gaar gl L1y apepmudan apaid 1is FerL Ggrenaeysenar SjareiiL . '
3. H®© Serelamws Qaran®, gaflssm o, sloj gaflad SiaasLIL (Hélapert.
4. Glocedluis sbiudtes efﬂl_L.ga)g S arelleanwis Qarar®H aaraﬁh_amm

@ 1 Lo,rpgnm 3 : B) 2whmpw 4
© 2 3opgn4d . D) 1,2wpmobd4
75. In a public meeting the tube hghts are connected in ————— and serial thts are
connected in . : ' :
Parallel and Series , (B) Series and Parallel
(C)  Parallel and Parallel . - (D) Series and Series
Qung s isafl) @gpé’u eargEaar —— Qeverdgid ERws eflema @ sar
Qe GQub Benasrsali Ceuas(Hid.
A uss Gaewriiy, Ggrruﬁwmnhq (B) Qgn_feeRtiL, uds QenerTiy
(©) ués Gaemiy, LES Gl D) Qg,rt;_rﬂmsmuu; Qgm_fiemesTiiy

76.  Pick out the correct one from the followmg
" When the speed of the body is doubled its kinetic energy becomes
(A) doubled C (B) half
ﬁf quadruple N (D) one fourth

érﬂundT aflenL_apul Csiray Q& : _ _
em Qunmefies Causb BHLam@td Gurr@g; DI PSS DD

(A) Q@ wLhsTEbd (B) urdurgw
©) prang LDI_..rEh_EilT@i.D . (D) smé wLsTEn
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77.  Gold will dissolve only in .
(A) Nitric acid : e .
(B)  Sulphuric acid ' -
(C) . Hydrochloric acid

D( Aquaregia

CamaL. ($hisd) : & LL_HID SHTUYD.
(A) o ‘I_T);..',Iﬂéi Sifleod
B) oy oo
©) o»apuyCrreCernilE siflew
D) @y rraus

78. The power consumed by an electric fan of 100 W working at 220 V, daily 5 hours for a
- month of 30 days is

A 15kWh - (B) 15000 kWh
@ 15kWh | D) 30kWh

100 W Bendipefles Blein aAAM gpeingy 220 V-db Seapid 5 woafiGprid> @uiriiv QuTg), 30 Br_aer
Qareir wTesHd g T HSsIs Qamer@sid Wersiarey

(A} 15kWh ~ (B) 15000kWh

(€ 15kWh | (D) 30kWh

79.  The next number in the series is 21, 20, 23, 18, 25, 16, 27,14 ...
A 28 . (B) 12

&~ 29 M) 10

QAgrflen 21B5s areir 21, 20, 23, 18, 25, 16, 27, 14 ...
A 28 B 12
© 29 O 10
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80.  The next figure in the series

o
9
jmm| IT1
.LLI
A | ® (o
» ( ) =
- SiPSH uGL LD
o
11 [
| M .
@) U (B) S
) © -
© \ D) =
31 | . PEDGS/7
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81.

82.°

83.

Water is flowing at the rate of 15 km/hr through a cylindrical pipé of diameter 14 cm into a
rectangular tank which is 50 m long and 44 m wide. In how many hours will the water level
in the tank raise by 21 cm? ‘

(A) 1hr - . ﬂf2iu‘s"

(C). 11 hrs - . | (©) 3hrs

50 & fard 44 18 mswqpeter Gsdius Qgmiguled 14 Qs.5 i apear 2 Gener Qigd @g}tﬂﬁldn
afurs 15 &.8/vafl Gussdd geanedi elpddpg. 21 Qs oerey Fiorid ewy
CouaRT{HLOMEITE) DG ST HETR ' '
@A)  loesf ‘ B) 2 weflsar
(C) 11 wesflser ) D) 3 uwefladr

The sum of 2 numbers is 248 and their HCF is 31. What is the number of such pairs of
numbers satisfying the above condition? ' B

(A) one o M two
(C) three D) four

@ran aenseian smL.BsAsmms 248 Cugd sapdlar S.Ou.a 31. @bs fupgamaeu Yiss
Qainuésnigws Gy sefier crameafléms assmen? '

@) goyg - (B) G
(I . @) preng
11
—_—— =7
ol 13
3 4

1 7
@ 4 ® 1

_+..._=9
ol 48
3 4

1 7
@ 43 ®
© % O 1
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84.'-'

85,

86.

a b. c'then a+b+ec

is equal to

Lo b_c ~o

4 c ) .
QA 7 ﬂ/2

7 28
© 3 D) Y
%z%:%a‘aﬂﬁ) a+b+c-6.ﬁ'|.'L0£.L'JL{GraTTaiT? »
@a 17 ® 2

7 - 28 -
©) CO | | @) 9

A tin of 0il was % full. When 5 B‘ottle of oil were taken out and 3 bottles of oil were poured

into it, it was % full. How ﬁiany bottles of oil can fill the tin?

@ 1 ® 20

© s L @

% uEH aameamurd Briuiuct urgdrsded 5 um_yd erawenert Qeuafluded erB&s Ll ( Qémesrir

3 umliig eramenet estpiws terent Sibg LTSHTSED % v FroNlmedpg. SiEs unsSrsdd

eTeuGUaTEY LML I & eTakTenast BY(BHSTE LTGEmd Blmbyb?

@ 10 - ® 20
© 30 | | @ 40

What is the ratio of 2% hrs to 20 minutés?

@) 153 - ®) 15:1

(© 102 _ - 2 152

2% wefl Crrsfn@Ew. 20 Pl 58DEL 2erer A0

@A) 153 ' @B 151 -

© 102 o o D) 152

33
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87. The C.I. on Rs.24,000 at 10% per annum for 1-;— years where interest being compounded | _

half-yearly is

P Re.3783

(C) Rs.3378

®
(D)

Rs.3873
Rs.3837

6 u:mg;g@p)@ RH prm aully. SGWISJQLLIULLITGD . 24 0005@ 1—-1— %@T@ arwsdne 10% Gul_lq.

. siggdev ﬁsm_a;@m Gl (B QuL.iq. STETEM? .

(&) .3783
C) .3378

88. Thevalueof 1+ is equal to

29
A) 1o

19
© 39

: 29
” =
19

© o

3.6x0.2

(A) 120

& 12

17.28+? -
3.6x0.2

" Ay 120
© 12

PEDGS/17
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(B)
D)

®)

®

(B)

@)

(B)
D)

5.3873
5.3837

10
19

10

10
19

10

1.20
0.12

1.20
0.12



90.

91.

92.

93. -

Name the ISRO launch vehicle which had launched 104 satellites in a. smgle ﬂxght on 15th
' February 2017. ,
| ’ (A) PSLV -C38 - | m( PSLV - C37
PSLV - C36 \ (D) PSLV-C35
i5, lﬁluueurﬂ 2017 @, geng @D qupg,g.la) 104 G&mgpma;as Camersener ofletremfled Q&gugﬁtu
ISRO eeng) gray eumaangfer Qi g,@s
(A) PSLV-C38 _ ) (B) PSLV-C37
- (C) PSLV-(C36 : ' (D) PSLV-C35
Who won the women’s singles title of Australian open 20177
M Serena Williams ' (B) Sania Mirza
(C)  Victoria Azarenka - (D) Lina
2017 b gy Hamesr evSHGrediu @u@]e'sa;(rm waaflit @heppuIT UL 1b Qme&r;peur‘r I ?
A _Q&rﬂaﬂn eSevallunbey (B) smaflur Brevr
(C) AlE&GLmfwmr &@Gqsﬁr&n D) &Senr
5tk J une 2017 would be celebrated with the theme,
(A) Environmental and climate literacy
% Connecting people to nature
(C)  One world, one environment
(D) Cultural Herit,age and sustainable tourism
&9en 5, 2017 b pre Qb as@uGurr@(‘éerrrr@l Qesrrml_rn_uuz_mmmgg
A) sppEGRILG OHGID aureflenaLl Lig tidley
B) QupmsCur wismer QamarTsga
©)  pOED. G SHOEGPS
(D)  sersery ummoLAWD WHYWD HlafNSss s &HMYOTEITETENLD
The bio-degradable fuel that is derived by the chemical, process, transestenﬁcatlon is
M Bio-Diesel . ~ (B) Coalgas
(C) Nature gas © (D) White gas
‘orhry eV FrEsSOLRSD’ Grarm Ga.@uﬁhua) weondée gsmelssuu@n, o udiflu .ﬂmgmml,.u.[m
aflQurmer or5?
(A) uCGunm gl ' (B) sﬁl'a.lrru.I
(C) . Quipews eumy ) D) Qeucmento ey
35 ' PEDGS/17
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94,

95.

96.

The self-support.mg scheme introduced by the Supreme Court in 2017 to provide 1ega1
services for middle and relatively low income groups is known as '

Middle income group scheme _ ' '
(B) Common Mén group scheme '
(C) Self-supporting group scheme
(D) ‘Legal Aid for all’ - scheme

2017 @&, p@Rssy wHpd euYBGasuld G@nps aupLrar @@é&@aé@ &1 Grepeuse QuphIGLD
Qur B, 25688 waPssT® JRAPEILGSFLUL BT s 2 gelld S b 27

(A) ;5@&,517 cu(BLITer G(pH S L (b

B) Qurg wafls @ws H LD

O swepgds @S H LD

(D) ‘omeraumEEh sUL e el @C.LL’D

-

Who is the author of the book titled “Hang women”, one of the novel short listed for 2016
DSC prize for South Asian literature?

(A) Mirza Waheed o K K.R. Meera

(C) Neel Mukherjee (D) Anuradha Roy

“QuiaktenenT grauﬂsﬁ\@ et mreuesies %Aﬂrﬂu_m wri? @ibs Hreue Ggg}@ < Aw @a)eseﬁlu DSC 2016
Cun i &@ Cairey Gaiurl L gengy

A) drerewady ‘ (B) Cs.gyf. By -
©) fo psird ' D) sigorsT gmi

Which Indian state to started the country’s first Olive refinery?

(A) Bihar M Rajasthan
(C) Delhi (D) Gujarat

orb% @mﬁu mrrjﬂwgﬁw @W APBONE * %@S]Q.l sPafiiy ﬁmwww %ULDLCI‘MLILII_@GITGTQI?
(A) Sasmi B) @qngsmgsnm
© Qod | @ eams
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,97.

Our ane Mmlst,er has inaugurated Indlas first mternatlonal exchange at GIFT cxty in
~ January 2017. What is GIFT city? Where is it?

. (A) _ Global Investment and Funding Thematic City, ‘Mumbai

98.

99.

~ 100.

¥ Gujarat International Finance Tech city, Gandhinagar _
(C) - Global Investment and Funding Theatre City, Gandhinagar

_ (D) Global Investment and Funding Transactions City, Mumbm

geameufl 2017- @ pg Grsiof @pﬁu.meﬁlm AT umasrrn.@ Qeereuei eowwib GIFT ps&u’,sﬁm
gjsusél acupgiaremni. GIFT payb erenugl argy? @)g) ermii@enarg? - :

@A)  @larmud GenQeauan Qe T « sUamg.hr FCuiy & &I, gplenLs

B  egs Qe _iCpayard LiGammenen QL& Bagb, STHH HETD

©) @Cemmud @G&TQG\JG\)I_QUJGUT[_ SIS o LighTig i HCUC LT payd, STHHBESTD
@) @Gemmue @m@mml_Qmsm_ DG LI B g FTEREVTESEH B&TLD, APLOELI

Where will be the next summer Olymplc in 2020 held?

M Tokyo ' I - (B) Rio
(©) London ' ’ D) New'Yoi'k
EHOTT: 2020 2ib () CarerLssma palbi9é (Zurn'_u;; TG HLSSULED?
(A GursfGuwr _ ' ' ®B)  AGwr '
(C) ear_er : L : D) Hwwnis

r

The first woman forelgn secretary of Pakistan appomted on 13t February 2017 is_

&9 Ms. Tehmina Janjua (B) Ms. Shehla Rashid Shora

(C) Mrs. Mazumdar Shaw I (D) Ms. Malala Yousafzai

13, Qugaud 2017 @d), undlavgrefler g Qe Qeueflymeys Qewegrs ;f,].u'_uﬁléa;uuu_mfr
(A) Qs AzginSen gregasr B) Qswef. Qeginer rals Cagry

(C) Amwd wpObstagr (D) Gseel. werer ws LoV

Who was the founder of Bachpan Bachao Andolan?.

" {A) Rippan Kapur » ﬁf Kailash Satyarth1
(C) Indira Jai Singh D) Bindeshawar Pathak
| ugLe ugna.l SieTHeven cremp @u_lsscsga)g Gﬁﬂp@eﬁ]ggmw WIFF?
A Aouensyr - . - (B) a)mnas} @wlmgﬂ
©) . @sdrr Qi - (D) ApGgeyauir ugsns
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Read the followmg instructions carefully before you hegm to answer the questxons.

10.
11.
12.
13.

IMPORTAN T INSTRUCTIONS

The apphcant will be supplied with Question Booklet 10 minutes before commencement of the
exammatmn

This Question Booklet contains 100 questions. Prior to attempting to answer the can&ldates are
requested to check whether all the questions are there and ensure there are no blank pages in the
question booklet. In case any defect in the Question Paper is noticed it shall be reported to the
Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Questnon Booklet after the eommencement of examination 1t

. will not be replaced.
~ Answer all questions. All questions carry equal marks

You must write your Register Number in the space provided on the top nght side of tlus page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Innglator to mark the anawers.

You will also encode your Register Number, Subject Code, Question Booklet S1. No. etc. with Blue or

Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, action will be taken as per commission’s notification.

- Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct

response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each questmn Your total marka will depend on the numher of correct responses marked by you in the .
Answer Sheet.

In the Answer Sheet there jare four circles @ ®, © and () agamst each question. To answer the
questiona you are to mark with Ball point pen ONLY ONE circle of your choice for each question. Select

~ one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark

more than one answer for one question, the answer will be treated as wrong. e.g. If for any item, ® is
the correct answer, you have to mark as follows : °

@000

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
thm Quesuon Booklet and the Answer Sheet out of the Exammauon Hall durmg the exam.matlon

'l‘he sheet before the last page of the Questmn Booklet can be used for Rough Work
In all matters and in cases of doubt, the English Version is ﬁnal
Do not tick-mark or mark the answers in the Question Booklet

Failure to comply with any of the above instructions will render you ‘liable bo such action or penalty as .
the Commwsmn may de(nde at their discretion. .
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